1987 A HUKHE[ 2]

HHRC 1Ty =(x—a)? +b £ 7%, “hL y=§7as‘¢g%,ﬁ@xm%t r45e

=@t +b — —ti2=2(t—a) —®
@Y t—a=—i2 .'.a=t+i2 —O®
2t 2t
3_
OIZRALT }:(t—a)2+b .'.b:E—(t—a)Z:}—i:4t pa—
t t toatt 4t
t 0 1
da 1 -1 (t-DE®+t+1)
@kp =Z=1-—= = da
— — | o0 | +
dt t3 tS t3 dt
db
s , — + 10 | —
@Y @:_lJri:l t :(1 L+t +t°) dt
dt t2 t5 t5 t5 3
a —
> S
a&it=1@&é‘%d\ﬁg%&@\béitzl@&é‘%jﬁ@%%&éo b PAENEN
4
db
db gt 1 d2b d(dbj d(dbj it 2 ¢t 2
tz1nlx —=U__- 0 S=-—|=|==|=|—-=5—+——=
” = da db t2< da®? dalda) dtlda) da t® t®-1 t°-1
dt
0<t<1dE &, blTall oW THRMA T, ki, b

1<tDO L x_ blTalz oW THFARD T, Fiofm,

lim a= lim a=+w, lim b=—w0, lim b=0T& v, ) M
t—>+0 t—>+o0 0 >a

t—>+0 t—+0

i (8, b) DAFEHIPHOBIEIT A OE Y .

wIZ, lz(x—a)2 +b ZHEH LT
X
x(x—-a)? +bx=1 x®-2ax?®+(@%+b)x-1=0

a=t+i,b=1—i%ﬁ7\?5& x3—(2t+ijx2+[t2+gjx—l:0 (x—t)z[x—iJ:O
2t* t 4t t? t t?

T X =t UISNDfiRE T T b & t=i t3=1 .t=1

t2

L7223 ->T .'.azg, b=

Nlw
~
%
N—



